('3-Digit Addition )

Name:
CAddition )
(_Addition )
a. b. /26 + 133 =
345
+ 218
c. Find the sum of 632 and 73. d.
652
+ 338
e. A grocery store sold 419 loaves f. There are 412 adults and 385 kids

of white bread and 252 loaves of
wheat bread. How many loaves
were sold in all?

Show your work.

answer.

at the soccer game. How many
people are at the soccer game
in all?

Show your work.

answer.

g. 287 + 531 =

h. Fill in the missing digits.




ANSWER KEY ('3-Digit Addition )
4 ere .\
(_Addition )
@ ] b. /26 +133 = 859
345
218 e
563 Sc o
c. Find the sum of 632 and 73. d. 1
1 652
632 + 1338
o 990
705

e. A grocery store sold 419 loaves
of white bread and 252 loaves of
wheat bread. How many loaves
were sold in all?

]
Show your work. 419
+ 252
671

answer: 671 loaves

f. There are 412 adults and 385 kids
at the soccer game. How many
people are at the soccer game

in all?
Show your work. 412
+ 385
797

answer: 797 people

g. 287 + 531 =__ 818

1
287
+ 531
818

h. Fill in the missing digits.
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